

Billy E. Rhoades

A comparison theorem for weighted mean and Cesàro methods

Mathematica Slovaca, Vol. 46 (1996), No. 2-3, 255--259

Persistent URL: <http://dml.cz/dmlcz/130629>

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1996

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

*Dedicated to Professor Tibor Šalát
on the occasion of his 70th birthday*

A COMPARISON THEOREM FOR WEIGHTED MEAN AND CESÀRO METHODS

B. E. RHOADES

(Communicated by Ľubica Holá)

ABSTRACT. In this paper, we obtain a new inclusion theorem between (C, α) , the Cesàro matrix of order α , $0 < \alpha < 1$, and weighted mean methods (\bar{N}, p) , generated by certain monotone sequences.

Let $\sum a_n$ be an infinite series with partial sums $\{s_n\}$, $T = (a_{n,k})$ an infinite matrix. Suppose that the sums

$$T_n := \sum_{j=0}^{\infty} a_{nj} s_j \quad (n = 0, 1, \dots)$$

exist. If

$$\sum_{n=1}^{\infty} n^{k-1} |T_n - T_{n-1}|^k < \infty, \quad (1)$$

then $\sum a_n$ is said to be $|T|_k$ summable, $k \geq 1$.

In a recent paper [3], Sarigöl and Bor obtained some comparison theorems between absolute Cesàro and absolute weighted mean matrices. Specifically, they proved the following two results.

THEOREM SB1. *Let $0 < \alpha < 1$. Then $|\bar{N}, p|_k$ summability ($k \geq 1$) implies $|C, \alpha|_k$ summability provided that*

$$P_n = O(n^\alpha p_n) \quad \text{as } n \rightarrow \infty. \quad (2)$$

THEOREM SB2. *Let $\alpha \geq 1$. Then $|\overline{N}, p|_k$ summability ($k \geq 1$) implies $|C, \alpha|_k$ summability provided that*

$$P_n = O(np_n) \quad \text{as } n \rightarrow \infty. \tag{3}$$

We first note that Theorem SB2 is a consequence of known results. Condition (3) implies that $|\overline{N}, p|_k \subseteq |C, 1|_k$ from Theorem 1 of B or [1]. Actually Theorem 1 of [1] has both condition (3) and the condition that $np_n = O(P_n)$ in the hypotheses. However, if one examines that proof and uses (1) as the definition of absolute summability of order k , then the theorem is true using only condition (3). From Flett [2], $|C, 1|_k \subseteq |C, \alpha|_k$ for $\alpha \geq 1$, and Theorem SB2 now follows from the transitivity of inclusion.

We also note that there are no nonincreasing sequences satisfying condition (2). For, if $\{p_n\}$ is nonincreasing, then $P_n := \sum_{j=0}^n p_j \geq (n+1)p_n$, and $P_n/n^\alpha p_n \geq n^{1-\alpha}$, contradicting (2).

Our result provides the analog of Theorem SB1 for ordinary convergence using nondecreasing sequences satisfying condition (2).

THEOREM. *Let $0 < \alpha < 1$, $\{p_n\}$ a nondecreasing sequence satisfying condition (2). Then $(\overline{N}, p) \subseteq (C, \alpha)$.*

Proof. The entries of \overline{N}^{-1} are $\overline{N}_{jj}^{-1} = P_j/p_j$, $\overline{N}_{j+1,j}^{-1} = -P_j/p_{j+1}$ and $\overline{N}_{nj}^{-1} = 0$, otherwise. With $A = C_\alpha \overline{N}^{-1}$, $E_n^\alpha := \binom{n+\alpha}{\alpha}$,

$$a_{nj} = \begin{cases} \frac{P_n}{E_n^\alpha p_n}, & j = n, \\ \frac{1}{E_n^\alpha} \left[E_{n-j}^{\alpha-1} \frac{P_j}{p_j} - E_{n-j-1}^{\alpha-1} \frac{P_j}{p_{j+1}} \right], & j < n. \end{cases}$$

We shall verify that A satisfies the Silverman-Toeplitz conditions. Since C_α and \overline{N} are both triangles with row sums 1, it follows that A has row sums 1. For each fixed j ,

$$a_{nj} \sim \frac{(n-j)^{\alpha-1}}{n^\alpha} + \frac{(n-j-1)^{\alpha-1}}{n^\alpha} \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

$$\sum_{j=0}^n |a_{nj}| = \frac{1}{E_n^\alpha} \sum_{j=0}^{n-1} \left| E_{n-j}^{\alpha-1} \frac{P_j}{p_j} - E_{n-j-1}^{\alpha-1} \frac{P_j}{p_{j+1}} \right| + \frac{P_n}{E_n^\alpha p_n}.$$

$$\begin{aligned} \left| E_{n-j}^{\alpha-1} \frac{P_j}{p_j} - E_{n-j-1}^{\alpha-1} \frac{P_j}{p_{j+1}} \right| &= P_j \left| \frac{\Gamma(n-j+\alpha)}{(n-j)! \Gamma(\alpha) p_j} - \frac{\Gamma(n-j+\alpha-1)}{(n-j-1)! \Gamma(\alpha) p_{j+1}} \right| \\ &= \frac{P_j \Gamma(n-j+\alpha-1)}{(n-j)! \Gamma(\alpha)} \left| \frac{n-j-\alpha-1}{p_j} - \frac{n-j}{p_{j+1}} \right| \\ &= \frac{P_j |E_{n-j}^{\alpha-2}|}{1-\alpha} \left| \frac{n-j-\alpha-1}{p_j} - \frac{n-j}{p_{j+1}} \right|. \end{aligned}$$

From the hypotheses on $\{p_n\}$,

$$\begin{aligned} \left| \frac{n-j-\alpha-1}{p_j} - \frac{n-j}{p_{j+1}} \right| &\leq (n-j) \left| \frac{1}{p_j} - \frac{1}{p_{j+1}} \right| + \frac{1+\alpha}{p_j}. \\ \frac{1}{E_n^\alpha} \sum_{j=0}^{n-1} \frac{(1+\alpha) P_j |E_{n-j}^{\alpha-2}|}{(1-\alpha) p_j} &\sim \frac{1}{n^\alpha} \sum_{j=0}^{n-1} j^\alpha (n-j)^{\alpha-2} < \sum_{j=0}^{n-1} (n-j)^{\alpha-2} = O(1). \end{aligned}$$

$$\begin{aligned} &\frac{1}{(1-\alpha) E_n^\alpha} \sum_{j=0}^{n-1} P_j |E_{n-j}^{\alpha-2}| \left| \frac{1}{p_j} - \frac{1}{p_{j+1}} \right| (n-j) \\ &\sim \frac{1}{n^\alpha} \sum_{j=0}^{n-1} (n-j)^{\alpha-1} \left(\frac{1}{p_j} - \frac{1}{p_{j+1}} \right) P_j \\ &= \frac{1}{n^\alpha} \sum_{j=0}^{n-1} \frac{(n-j)^{\alpha-1} P_j}{p_j} - \frac{1}{n^\alpha} \sum_{j=0}^{n-1} \frac{(n-j)^{\alpha-1} P_j}{p_{j+1}} \\ &= \frac{n^{\alpha-1} P_0}{n^\alpha p_0} + \frac{1}{n^\alpha} \sum_{j=1}^{n-1} \frac{[(n-j)^{\alpha-1} P_j - (n-j+1)^{\alpha-1}] P_{j-1}}{p_j} - P_{n-1} n^\alpha p_n \\ &= O(1) + \frac{1}{n^\alpha} \sum_{j=1}^{n-1} \frac{P_{j-1}}{p_j} [(n-j)^{\alpha-1} - (n-j+1)^{\alpha-1}] + \frac{1}{n^\alpha} \sum_{j=1}^{n-1} (n-j)^{\alpha-1} \\ &= O(1) + \frac{O(1)}{n^\alpha} \sum_{j=1}^{n-1} j^\alpha [(n-j)^{\alpha-1} - (n-j+1)^{\alpha-1}] \\ &< O(1) \left[1 + \sum_{j=1}^{n-1} [(n-j)^{\alpha-1} - (n-j+1)^{\alpha-1}] \right] = O(1). \end{aligned}$$

□

Remark. Condition (2) is not satisfied for nondecreasing sequences of the form $(n+1)^\alpha$ for $\alpha > 0$. For sequences of the form a^n , $a > 1$, the matrix method (\bar{N}, p) is equivalent to convergence, so that the Theorem is trivially true. However, there do exist nondecreasing sequences which satisfy (2), and for which the

corresponding matrix method is not equivalent to convergence. For example, define $\{p_n\}$ by $p_0 = 1$ and $p_n = e^{n^\alpha} / n^{1-\alpha}$ for $n > 0$.

A reasonable conjecture is the following: Let $0 < \alpha < 1$. If $\{p_n\}$ is either

- (a) nonincreasing, or
- (b) is nondecreasing and satisfies

$$\frac{n^\alpha p_n}{P_n}, \tag{4}$$

then $(C, \alpha) \subseteq (\overline{N}, p)$.

If condition (a) is satisfied, then it is known that $(C, 1) \subseteq (\overline{N}, p)$. The result then follows by the transitivity of inclusion.

Suppose that condition (b) is satisfied.

Since (C, α) is a Hausdorff matrix with nonzero diagonal entries, the inverse matrix is also a Hausdorff matrix with nonzero entries of the form $\binom{n}{k} \Delta^{n-k} \mu_k$, where $\mu_k = E_k^\alpha$, $\Delta \mu_k = \mu_k - \mu_{k+1}$, $\Delta^n \mu_k = \Delta(\Delta^{n-1} \mu_k)$. A straightforward calculation verifies that

$$\Delta^{n-k} \mu_k = \frac{-\alpha(1-\alpha) \dots (n-k-1-\alpha) \Gamma(k+\alpha+1)}{\Gamma(\alpha+1)n!}.$$

Hence

$$\binom{n}{k} \Delta^{n-k} \mu_k = E_k^\alpha E_{n-k}^{-\alpha-1}.$$

With $B = \overline{N}C_\alpha^{-1}$,

$$b_{nk} = \begin{cases} \frac{E_k^\alpha}{P_n} \sum_{j=k+1}^n p_j E_{j-k}^{\alpha-1} + \frac{p_k E_k^\alpha}{P_n}, & k < n, \\ \frac{p_n E_n^\alpha}{P_n}, & k = n. \end{cases}$$

B has row sums equal to 1. For k fixed, using (4),

$$|b_{nk}| \sim \frac{1}{P_n} \left(\sum_{j=k+1}^n p_j (j-k)^{-\alpha-1} \right) + o(1) = \frac{p_n O(1)}{P_n} + o(1) = o(1).$$

For $k < n$, $b_{nk} = (E_k^\alpha / P_n) f(k)$, where

$$f(k) := \sum_{j=k+1}^n p_j E_{j-k}^{-\alpha-1} + p_k = \sum_{i=1}^{n-k} p_{i+k} E_i^{-\alpha-1} + p_k.$$

To verify the conjecture, it would be sufficient to show that $f(k)$ is of fixed sign for all k sufficiently large.

A COMPARISON THEOREM FOR WEIGHTED MEAN AND CESÀRO METHODS

REFERENCES

- [1] BOR, H. : *A note on two summability methods*, Proc. Amer. Math. Soc. **98** (1986), 81–84.
- [2] FLETT, T. M. : *On an extension of absolute summability and some theorems of Littlewood and Paley*, Proc. London Math. Soc. (3) **7** (1957), 113–141.
- [3] SARIGÖL, M. A.—BOR, H. : *On two summability methods*, Math. Slovaca **43** (1993), 317–325.

Received June 7, 1994

Revised September 26, 1994

Department of Mathematics

Indiana University

Bloomington, Indiana 47405

U. S. A.

E-mail: rhoades@ucs.indiana.edu